

## A MULTIPLE MORE ACCURATE HARDY-LITTLEWOOD-POLYA INEQUALITY

QILIANG HUANG - BICHENG YANG - LOKENATH DEBNATH

By introducing multi-parameters and conjugate exponents and using Euler-Maclaurin's summation formula, we estimate the weight coefficient and prove a multiple more accurate Hardy-Littlewood-Polya (H-L-P) inequality, which is an extension of some earlier published results. We also prove that the constant factor in the new inequality is the best possible, and obtain its equivalent forms.

### 1. Introduction

After H. Weyl, published the well known Hilbert's inequality ([1]), by introducing one pair of conjugate exponents  $(p, q)$   $\left(\frac{1}{p} + \frac{1}{q} = 1\right)$ , in 1925, Hardy and Riese ([2]) gave an extension of the Hilbert's inequality as follows: If  $p > 1$ ,  $a_n, b_n \geq 0$ , such that  $0 < \sum_{n=1}^{\infty} a_n^p < \infty$  and  $0 < \sum_{n=1}^{\infty} b_n^q < \infty$ , then

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{m+n} < \frac{\pi}{\sin(\pi/p)} \left( \sum_{n=1}^{\infty} a_n^p \right)^{\frac{1}{p}} \left( \sum_{n=1}^{\infty} b_n^q \right)^{\frac{1}{q}}, \quad (1)$$

---

Entrato in redazione: 21 dicembre 2011

AMS 2010 Subject Classification: 26D15.

Keywords: Hilbert inequality, H-L-P inequality, Weight coefficient, Euler-Maclaurin's summation formula.

where the constant factor  $\frac{\pi}{\sin(\pi/p)}$  is the best possible. The equivalent form of (1) is as follows:

$$\sum_{n=1}^{\infty} \left( \sum_{m=1}^{\infty} \frac{a_m}{m+n} \right)^p < \left[ \frac{\pi}{\sin(\pi/p)} \right]^p \sum_{n=1}^{\infty} a_n^p, \quad (2)$$

where the constant factor  $\left[ \frac{\pi}{\sin(\pi/p)} \right]^p$  is the best possible. In 1934, Hardy *et al.* [3] proved the following more accurate equivalent Hilbert's inequalities:

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{m+n-1} < \frac{\pi}{\sin(\pi/p)} \left( \sum_{n=1}^{\infty} a_n^p \right)^{\frac{1}{p}} \left( \sum_{n=1}^{\infty} b_n^q \right)^{\frac{1}{q}}, \quad (3)$$

$$\sum_{n=1}^{\infty} \left( \sum_{m=1}^{\infty} \frac{a_m}{m+n-1} \right)^p < \left[ \frac{\pi}{\sin(\pi/p)} \right]^p \sum_{n=1}^{\infty} a_n^p, \quad (4)$$

where the constant factors  $\frac{\pi}{\sin(\pi/p)}$  and  $\left[ \frac{\pi}{\sin(\pi/p)} \right]^p$  are all the best possible. Huang [4] gave an extension of (1) and (3), which is a multiple more accurate Hilbert's. Many authors ([5]-[11]) proved more accurate Hilbert-type inequalities. Yang [12] also considered the multiple Hilbert-type integral inequality.

Hardy, *et al.* [3] also gave the following equivalent inequalities:

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m, n\}} < pq \left( \sum_{m=1}^{\infty} a_m^p \right)^{\frac{1}{p}} \left( \sum_{m=1}^{\infty} b_m^q \right)^{\frac{1}{q}}, \quad (5)$$

$$\sum_{n=1}^{\infty} \left( \sum_{m=1}^{\infty} \frac{a_m}{\max\{m, n\}} \right)^p < (pq)^p \sum_{n=1}^{\infty} a_n^p, \quad (6)$$

where the constant factors  $pq$  and  $(pq)^p$  are the best possible. Inequalities (1) and (5) are important in mathematical analysis and its applications (see Mitrinovic *et al.* [13]). Recently, for  $\beta \geq -\frac{1}{4}$ , Yang proved the following more accurate equivalent Hardy-Littlewood-Pólya (H-L-P) inequalities (see Yang [7]):

$$\sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{a_m b_n}{\max\{m, n\} + \beta} < pq \left( \sum_{m=1}^{\infty} a_m^p \right)^{\frac{1}{p}} \left( \sum_{m=1}^{\infty} b_m^q \right)^{\frac{1}{q}}, \quad (7)$$

$$\sum_{n=1}^{\infty} \left( \sum_{m=1}^{\infty} \frac{a_m}{\max\{m, n\} + \beta} \right)^p < (pq)^p \sum_{n=1}^{\infty} a_n^p, \quad (8)$$

where the constant factors  $pq$  and  $(pq)^p$  are the best possible.

This paper deals with the use of multi-parameters and conjugate exponents to estimate the weight coefficient and to prove a multiple more accurate Hardy-Littlewood-Pólya (H-L-P) inequality. It is shown that the Hardy-Littlewood-Pólya (H-L-P) inequality in an extension of inequalities (5) and (7). We also prove that the constant factor in the extended inequality is the best possible and then consider its equivalent forms.

## 2. Some lemmas

**Lemma 2.1.** *If  $n \in \mathbb{N} \setminus \{1\}$ ,  $p_i, r_i > 1$  ( $i = 1, \dots, n$ ),  $\sum_{i=1}^n \frac{1}{p_i} = \sum_{i=1}^n \frac{1}{r_i} = 1$ ,  $0 < \lambda \leq \min_{1 \leq i \leq n} \{r_i\}$ ,  $\beta \geq \frac{\sqrt{33}}{12} - \frac{3}{4}$ , then*

$$A := \prod_{i=1}^n \left[ (m_i + \beta)^{\left(\frac{\lambda}{r_i} - 1\right)(1-p_i)} \prod_{j=1(j \neq i)}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{1}{p_i}} = 1. \quad (9)$$

*Proof.* We have

$$\begin{aligned} A &= \prod_{i=1}^n \left[ (m_i + \beta)^{\left(\frac{\lambda}{r_i} - 1\right)(1-p_i) + 1 - \frac{\lambda}{r_i}} \prod_{j=1}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{1}{p_i}} \\ &= \prod_{i=1}^n \left[ (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right)} \prod_{j=1}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{1}{p_i}} \\ &= \prod_{i=1}^n (m_i + \beta)^{1 - \frac{\lambda}{r_i}} \left[ \prod_{j=1}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\sum_{i=1}^n \frac{1}{p_i}} = 1 \end{aligned}$$

and thus (9) is valid. □

**Lemma 2.2.** *If  $r > 1$ ,  $\frac{1}{r} + \frac{1}{s} = 1$ ,  $0 < \lambda \leq \min \{r, s\}$ ,  $\beta \geq \frac{\sqrt{33}}{12} - \frac{3}{4}$ , then, for any  $n \in \mathbb{N}$ , we have the following inequality*

$$\frac{rs}{\lambda} \left[ 1 - O \left( \frac{1}{(n + \beta)^{\lambda/r}} \right) \right] < \sum_{m=1}^{\infty} \frac{(n + \beta)^{\frac{\lambda}{s}} (m + \beta)^{\frac{\lambda}{r} - 1}}{[\max \{n, m\} + \beta]^{\lambda}} < \frac{rs}{\lambda}. \quad (10)$$

*Proof.* We set  $f(x) := \frac{(n + \beta)^{\frac{\lambda}{s}} (x + \beta)^{\frac{\lambda}{r} - 1}}{[\max \{n, x\} + \beta]^{\lambda}}$ ,  $f_1(x) := (n + \beta)^{-\frac{\lambda}{r}} (x + \beta)^{\frac{\lambda}{r} - 1}$ ,  $f_2(x) := (n + \beta)^{\frac{\lambda}{s}} (x + \beta)^{-\frac{\lambda}{s} - 1}$ ,  $x \in (-\beta, \infty)$ , we find  $(-1)^i f_1^{(i)}(x) \geq 0$ ,  $(-1)^i f_2^{(i)}(x) > 0$ ,  $f_1^{(i)}(\infty) = f_2^{(i)}(\infty) = 0$  ( $i = 1, 2, 3, 4$ ). Using the improved

Euler-Maclaurin's summation formula (see Yang [11]), we obtain

$$\begin{aligned} \sum_{m=1}^n f_1(m) &\leq \int_1^n f_1(x) dx + \frac{1}{2} [f_1(1) + f_1(n)] + \frac{1}{12} f_1'(x) \Big|_1^n, \\ \sum_{m=n}^{\infty} f_2(m) &< \int_n^{\infty} f_2(x) dx + \frac{1}{2} f_2(n) - \frac{1}{12} f_2'(n). \end{aligned}$$

Since  $f_1(n) = f_2(n)$ , it follows that

$$\begin{aligned} \sum_{m=1}^{\infty} f(m) &= \sum_{m=1}^n f_1(m) + \sum_{m=n}^{\infty} f_2(m) - f_2(n) \\ &< \int_1^{\infty} f(x) dx + \frac{1}{2} f_1(1) - \frac{1}{12} f_1'(1) + \frac{1}{12} [f_1'(n) - f_2'(n)]. \end{aligned} \quad (11)$$

By simple calculation, we find

$$\begin{aligned} f_1(1) &= (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}-1}, f_1'(1) = \left(\frac{\lambda}{r} - 1\right) (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}-2}, \\ f_1'(n) &= \left(\frac{\lambda}{r} - 1\right) (n+\beta)^{-2}, f_2'(n) = -\left(\frac{\lambda}{s} + 1\right) (n+\beta)^{-2}, \text{ and} \end{aligned}$$

$$\begin{aligned} \int_1^{\infty} f(x) dx &= \int_1^n f_1(x) dx + \int_n^{\infty} f_2(x) dx \\ &= \frac{r}{\lambda} \left[ 1 - (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}} \right] + \frac{s}{\lambda} \\ &= \frac{rs}{\lambda} - \frac{r}{\lambda} (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}}. \end{aligned} \quad (12)$$

In view of inequality (11), it turns out that

$$\begin{aligned} \sum_{m=1}^{\infty} \frac{(n+\beta)^{\frac{\lambda}{s}} (m+\beta)^{\frac{\lambda}{r}-1}}{[\max\{n, m\} + \beta]^{\lambda}} \\ &= \sum_{m=1}^{\infty} f(m) < \frac{rs}{\lambda} - \frac{r}{\lambda} (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}} + \frac{1}{2} (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}-1} \\ &\quad - \frac{1}{12} \left(\frac{\lambda}{r} - 1\right) (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}-2} + \frac{\lambda}{12} (n+\beta)^{-2} \\ &= \frac{rs}{\lambda} - (n+\beta)^{-\frac{\lambda}{r}} (1+\beta)^{\frac{\lambda}{r}-2} R, \end{aligned} \quad (13)$$

where

$$R := \frac{r}{\lambda} (1+\beta)^2 - \frac{1}{2} (1+\beta) + \frac{1}{12} \left(\frac{\lambda}{r} - 1\right) - \frac{\lambda}{12} \left(\frac{n+\beta}{1+\beta}\right)^{\frac{\lambda}{r}-2}.$$

In view of  $\frac{\lambda}{r} - 2 < 0$ ,  $\lambda \leq \min\{r, s\}$ ,  $1 + \beta \geq \frac{3+\sqrt{33}}{12}$ , we obtain

$$\begin{aligned} 6R &\geq \frac{6r}{\lambda} (1 + \beta)^2 - 3(1 + \beta) + \frac{1}{2} \left( \frac{\lambda}{r} - 1 - \lambda \right) \\ &= \frac{6r}{\lambda} (1 + \beta)^2 - 3(1 + \beta) - \frac{1}{2} \left( \frac{\lambda}{s} + 1 \right) \\ &\geq 6(1 + \beta)^2 - 3(1 + \beta) - 1 \geq 0. \end{aligned}$$

By (13), we have the right-hand side of (10). On the other hand, it is obvious that  $f(x)$  is decreasing in  $(-\beta, \infty)$  and  $f(x)$  is strictly decreasing in  $(n, \infty)$ , it follows from (12) that

$$\sum_{m=1}^{\infty} f(m) > \int_1^{\infty} f(x) dx = \frac{rs}{\lambda} - \frac{r}{\lambda} (n + \beta)^{-\frac{\lambda}{r}} (1 + \beta)^{\frac{\lambda}{r}}.$$

Hence, the proof of the left-hand side of (10) is complete. □

**Lemma 2.3.** *In view of the assumption of Lemma 1, we define the weight coefficients  $\omega_i(m_i) = \omega(m_i; r_1, \dots, r_n)$  by*

$$\omega_i(m_i) := (m_i + \beta)^{\frac{\lambda}{r_i}} \sum_{m_n=1}^{\infty} \cdots \sum_{m_{i+1}=1}^{\infty} \sum_{m_{i-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{\prod_{j=1(j \neq i)}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^{\lambda}}, \tag{14}$$

where  $i = 1, \dots, n$ , then, there exists  $\delta_n > 0$ , such that

$$\begin{aligned} &\frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \left[ 1 - O\left(\frac{1}{(m_n + \beta)^{\delta_n}}\right) \right] \\ &< \omega_n(m_n) = (m_n + \beta)^{\frac{\lambda}{r_n}} \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{\prod_{j=1}^{n-1} (m_j + \beta)^{\frac{\lambda}{r_j} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^{\lambda}} \\ &< \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i. \end{aligned} \tag{15}$$

Moreover, for any  $i \in \{1, \dots, n\}$ , it follows that

$$\omega_i(m_i) < \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i. \tag{16}$$

*Proof.* We prove (15) by mathematical induction. For  $n = 2$ , we set  $r = r_1$  and  $s = r_2$  satisfying  $\frac{1}{r} + \frac{1}{s} = 1$ . Putting  $m = m_1$ ,  $\delta_2 = \frac{\lambda}{r} > 0$ , we have

$$\omega_2(m_2) = \sum_{m_1=1}^{\infty} \frac{(m_1 + \beta)^{\frac{\lambda}{r_1} - 1} (m_2 + \beta)^{\frac{\lambda}{r_2}}}{[\max_{1 \leq j \leq 2} \{m_j\} + \beta]^{\lambda}} = \sum_{m=1}^{\infty} \frac{(m_2 + \beta)^{\frac{\lambda}{s}} (m + \beta)^{\frac{\lambda}{r} - 1}}{[\max\{m_2, m\} + \beta]^{\lambda}}.$$

Using inequality (10) shows that (15) is true.

We assume that, for  $n (\geq 2)$ , (15) is valid, then, for  $n + 1$ , setting  $m_{j_0} = \max_{2 \leq j \leq n+1} \{m_j\} (\geq m_{n+1})$ ,  $s_1 = \left(1 - \frac{1}{r_1}\right)^{-1}$ , by (10), we have the following

$$\frac{r_1 s_1}{\lambda} \left[ 1 - O_1 \left( \frac{1}{(m_{j_0} + \beta)^{\lambda/r_1}} \right) \right] < \sum_{m_1=1}^{\infty} \frac{(m_{j_0} + \beta)^{\frac{\lambda}{s_1}} (m_1 + \beta)^{\frac{\lambda}{r_1} - 1}}{[\max \{m_{j_0}, m_1\} + \beta]^{\lambda}} < \frac{r_1 s_1}{\lambda}. \quad (17)$$

Setting  $\tilde{\lambda} = \frac{\lambda}{s_1}$ ,  $\tilde{r}_j = \frac{r_{j+1}}{s_1}$ ,  $\tilde{m}_j = m_{j+1} (j = 1, \dots, n)$ , we find  $\sum_{j=1}^n \frac{1}{\tilde{r}_j} = 1$ ,  $\tilde{\lambda} < \min_{1 \leq i \leq n} \{\tilde{r}_i\}$ . In view of (17) and the assumption of induction, it follows that

$$\begin{aligned} \omega_{n+1}(m_{n+1}) &= (\tilde{m}_n + \beta)^{\frac{\tilde{\lambda}}{r_n}} \sum_{\tilde{m}_{n-1}=1}^{\infty} \cdots \sum_{\tilde{m}_1=1}^{\infty} \frac{\prod_{j=1}^{n-1} (\tilde{m}_j + \beta)^{\tilde{\lambda}/\tilde{r}_j - 1}}{[\max_{1 \leq j \leq n} \{\tilde{m}_j\} + \beta]^{\tilde{\lambda}}} \\ &\quad \times \left\{ \sum_{m_1=1}^{\infty} \frac{(m_{j_0} + \beta)^{\frac{\lambda}{s_1}} (m_1 + \beta)^{\frac{\lambda}{r_1} - 1}}{[\max \{m_{j_0}, m_1\} + \beta]^{\lambda}} \right\} \\ &< (\tilde{m}_n + \beta)^{\frac{\tilde{\lambda}}{r_n}} \sum_{\tilde{m}_{n-1}=1}^{\infty} \cdots \sum_{\tilde{m}_1=1}^{\infty} \frac{\prod_{j=1}^{n-1} (\tilde{m}_j + \beta)^{\tilde{\lambda}/\tilde{r}_j - 1}}{[\max_{1 \leq j \leq n} \{\tilde{m}_j\} + \beta]^{\tilde{\lambda}}} \cdot \frac{r_1 s_1}{\lambda} \\ &< \frac{1}{\tilde{\lambda}^{n-1}} \prod_{i=1}^n \tilde{r}_i \cdot \frac{r_1 s_1}{\lambda} = \frac{1}{\lambda^n} \prod_{i=1}^{n+1} r_i, \quad (18) \end{aligned}$$

$$\begin{aligned} \omega_{n+1}(m_{n+1}) &> (\tilde{m}_n + \beta)^{\frac{\tilde{\lambda}}{r_n}} \sum_{\tilde{m}_{n-1}=1}^{\infty} \cdots \sum_{\tilde{m}_1=1}^{\infty} \frac{\prod_{j=1}^{n-1} (\tilde{m}_j + \beta)^{\tilde{\lambda}/\tilde{r}_j - 1}}{[\max_{1 \leq j \leq n} \{\tilde{m}_j\} + \beta]^{\tilde{\lambda}}} \cdot \frac{r_1 s_1}{\lambda} \\ &\quad \times \left[ 1 - O_1 \left( \frac{1}{(m_{j_0} + \beta)^{\lambda/r_1}} \right) \right] \\ &\geq \frac{r_1 s_1}{\lambda} \left[ (\tilde{m}_n + \beta)^{\frac{\tilde{\lambda}}{r_n}} \sum_{\tilde{m}_{n-1}=1}^{\infty} \cdots \sum_{\tilde{m}_1=1}^{\infty} \frac{\prod_{j=1}^{n-1} (\tilde{m}_j + \beta)^{\tilde{\lambda}/\tilde{r}_j - 1}}{[\max_{1 \leq j \leq n} \{\tilde{m}_j\} + \beta]^{\tilde{\lambda}}} - \gamma \right] \\ &> \frac{1}{\lambda^n} \prod_{i=1}^{n+1} r_i \left[ 1 - \tilde{O}_2 \left( \frac{1}{(\tilde{m}_n + \beta)^{\tilde{\delta}_n}} \right) \right] - \frac{r_1 s_1}{\lambda} \gamma, \quad (19) \end{aligned}$$

where  $\tilde{\delta}_n > 0$  and

$$\begin{aligned} 0 < \gamma &= (\tilde{m}_n + \beta)^{\frac{\tilde{\lambda}}{r_n}} \sum_{\tilde{m}_{n-1}=1}^{\infty} \\ &\dots \sum_{\tilde{m}_1=1}^{\infty} \frac{\prod_{j=1}^{n-1} (\tilde{m}_j + \beta)^{\tilde{\lambda}/\tilde{r}_j - 1}}{[\max_{1 \leq j \leq n} \{\tilde{m}_j\} + \beta]^{\tilde{\lambda}}} \tilde{O}_1 \left( \frac{1}{(m_{n+1} + \beta)^{\frac{\tilde{\lambda}}{r_1}}} \right) \\ &< \frac{1}{s_1 \lambda^{n-1}} \prod_{i=2}^{n+1} r_i \tilde{O}_1 \left( \frac{1}{(m_{n+1} + \beta)^{\lambda/r_1}} \right) \end{aligned}$$

Setting  $\delta_{n+1} = \min \left\{ \tilde{\delta}_n, \frac{\lambda}{r_1} \right\} > 0$ , and using (19), we obtain

$$\omega_{n+1}(m_{n+1}) > \frac{1}{\lambda^n} \prod_{i=1}^{n+1} r_i \left[ 1 - O \left( \frac{1}{(m_{n+1} + \beta)^{\delta_{n+1}}} \right) \right]. \tag{20}$$

Hence, (15) is valid by (18) and (20) and the mathematical induction.

Setting  $\tilde{m}_j = m_j$ ,  $\tilde{r}_j = r_j$  ( $j = 1, \dots, i-1$ ),  $\tilde{m}_j = m_{j+1}$ ,  $\tilde{r}_j = r_{j+1}$  ( $j = i, \dots, n-1$ ),  $\tilde{m}_n = m_i$ ,  $\tilde{r}_n = r_i$ , we obtain

$$\omega_i(m_i) = \omega(\tilde{m}_n; \tilde{r}_1, \dots, \tilde{r}_n) < \frac{1}{\lambda^{n-1}} \prod_{i=1}^n \tilde{r}_i = \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i.$$

Thus, inequality (16) follows. □

### 3. Main results

**Theorem 3.1.** *Suppose that  $n \in \mathbf{N} \setminus \{1\}$ ,  $p_i, r_i > 1$  ( $i = 1, \dots, n$ ),  $\sum_{i=1}^n \frac{1}{p_i} = \sum_{i=1}^n \frac{1}{r_i} = 1$ ,  $\frac{1}{q_n} = 1 - \frac{1}{p_n}$ ,  $0 < \lambda \leq \min_{1 \leq i \leq n} \{r_i\}$ ,  $\beta \geq \frac{\sqrt{33}}{12} - \frac{3}{4} = -0.27^+$ ,  $a_{m_i}^{(i)} \geq 0$  ( $m_i \in \mathbf{N}$ ), such that*

$$0 < \sum_{m_i=1}^{\infty} (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right) - 1} \left(a_{m_i}^{(i)}\right)^{p_i} < \infty \quad (i = 1, \dots, n), \tag{21}$$

then, the following equivalent inequalities hold:

$$I = \sum_{m_n=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{1}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \prod_{i=1}^n a_{m_i}^{(i)}$$

$$< \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \left\{ \sum_{m_i=1}^{\infty} (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right) - 1} \left(a_{m_i}^{(i)}\right)^{p_i} \right\}^{\frac{1}{p_i}}, \quad (22)$$

$$J = \left\{ \sum_{m_n=1}^{\infty} (m_n + \beta)^{\frac{\lambda q_n}{r_n} - 1} \left[ \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{\prod_{i=1}^{n-1} a_{m_i}^{(i)}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right]^{q_n} \right\}^{\frac{1}{q_n}}$$

$$< \frac{r_n}{\lambda^{n-1}} \prod_{i=1}^{n-1} r_i \left\{ \sum_{m_i=1}^{\infty} (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right) - 1} \left(a_{m_i}^{(i)}\right)^{p_i} \right\}^{\frac{1}{p_i}}. \quad (23)$$

*Proof.* Since  $\frac{1}{p_n} + \frac{1}{q_n} = 1$ , we use (9) and Hölder's inequality (see Kuang [14]) to find

$$\left[ \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{\prod_{i=1}^{n-1} a_{m_i}^{(i)}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right]^{q_n}$$

$$= \left\{ \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{1}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right.$$

$$\quad \times \left[ (m_n + \beta)^{\left(\frac{\lambda}{r_n} - 1\right)(1-p_n)} \prod_{j=1}^{n-1} (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{1}{p_n}}$$

$$\quad \left. \times \prod_{i=1}^{n-1} \left[ (m_i + \beta)^{\left(\frac{\lambda}{r_i} - 1\right)(1-p_i)} \prod_{j=1(j \neq i)}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{1}{p_i}} a_{m_i}^{(i)} \right\}^{q_n}$$

$$\leq \left\{ \omega_n(m_n) (m_n + \beta)^{p_n \left(1 - \frac{\lambda}{r_n}\right) - 1} \right\}^{\frac{q_n}{p_n}} \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{1}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda}$$

$$\quad \times \prod_{i=1}^{n-1} \left[ (m_i + \beta)^{\left(\frac{\lambda}{r_i} - 1\right)(1-p_i)} \prod_{j=1(j \neq i)}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{q_n}{p_i}} \left(a_{m_i}^{(i)}\right)^{q_n}$$

$$\leq \left( \frac{\prod_{i=1}^n r_i}{\lambda^{n-1}} \right)^{\frac{q_n}{p_n}} (m_n + \beta)^{1 - \frac{\lambda q_n}{r_n}} \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{1}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda}$$

$$\quad \times \prod_{i=1}^{n-1} \left[ (m_i + \beta)^{\left(\frac{\lambda}{r_i} - 1\right)(1-p_i)} \prod_{j=1(j \neq i)}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{q_n}{p_i}} \left(a_{m_i}^{(i)}\right)^{q_n}.$$



Thus,

$$\begin{aligned}
 J &\leq \left(\frac{\prod_{i=1}^n r_i}{\lambda^{n-1}}\right)^{\frac{1}{p_n}} \left\{ \sum_{m_n=1}^{\infty} \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{1}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right. \\
 &\quad \left. \times \prod_{i=1}^{n-1} \left[ (m_i + \beta)^{\left(\frac{\lambda}{r_i} - 1\right)(1-p_i)} \prod_{j=1(j \neq i)}^n (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{q_n}{p_i}} (a_{m_i}^{(i)})^{q_n} \right\}^{\frac{1}{q_n}} \\
 &= \left(\frac{\prod_{i=1}^n r_i}{\lambda^{n-1}}\right)^{\frac{1}{p_n}} \left\{ \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \left[ \sum_{m_n=1}^{\infty} \frac{(m_n + \beta)^{\frac{\lambda}{r_n} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right] \right. \\
 &\quad \left. \times \prod_{i=1}^{n-1} \left[ (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right) - 1} (m_i + \beta)^{\frac{\lambda}{r_i}} \prod_{j=1(j \neq i)}^{n-1} (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right]^{\frac{q_n}{p_i}} \right. \\
 &\quad \left. \times (a_{m_i}^{(i)})^{q_n} \right\}^{\frac{1}{q_n}}. \tag{24}
 \end{aligned}$$

For  $n \geq 3$ , since  $\sum_{i=1}^{n-1} \frac{q_n}{p_i} = 1$ , by Hölder’s inequality again in (24), it follows that

$$\begin{aligned}
 J &\leq \left(\frac{\prod_{i=1}^n r_i}{\lambda^{n-1}}\right)^{\frac{1}{p_n}} \prod_{i=1}^{n-1} \left\{ \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \sum_{m_n=1}^{\infty} \frac{(m_n + \beta)^{\frac{\lambda}{r_n} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right. \\
 &\quad \left. \times \left[ (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right) - 1} (m_i + \beta)^{\frac{\lambda}{r_i}} \prod_{j=1(j \neq i)}^{n-1} (m_j + \beta)^{\frac{\lambda}{r_j} - 1} \right] (a_{m_i}^{(i)})^{p_i} \right\}^{\frac{1}{p_i}} \\
 &= \left(\frac{\prod_{i=1}^n r_i}{\lambda^{n-1}}\right)^{\frac{1}{p_n}} \prod_{i=1}^{n-1} \left\{ \sum_{m_i=1}^{\infty} \omega_i(m_i) (m_i + \beta)^{p_i \left(1 - \frac{\lambda}{r_i}\right) - 1} (a_{m_i}^{(i)})^{p_i} \right\}^{\frac{1}{p_i}}. \tag{25}
 \end{aligned}$$

When  $n = 2$ , we directly get (25) from (24). Hence, (23) is valid by (25) and (16).

Since  $\frac{1}{q_n} + \frac{1}{p_n} = 1$ , by Hölder’s inequality once again, it follows that

$$\begin{aligned}
 I &= \sum_{m_n=1}^{\infty} \left[ (m_n + \beta)^{\frac{\lambda}{r_n} - \frac{1}{q_n}} \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{\prod_{i=1}^{n-1} a_{m_i}^{(i)}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right] \\
 &\quad \times \left[ (m_n + \beta)^{\frac{1}{q_n} - \frac{\lambda}{r_n}} a_{m_n}^{(n)} \right] \\
 &\leq J \left\{ \sum_{m_n=1}^{\infty} (m_n + \beta)^{p_n \left(1 - \frac{\lambda}{r_n}\right) - 1} (a_{m_n}^{(n)})^{p_n} \right\}^{\frac{1}{p_n}}. \tag{26}
 \end{aligned}$$

Using (23) gives (22).

On the other hand, assuming that (22) is valid and setting

$$a_{m_n}^{(n)} = (m_n + \beta)^{\frac{\lambda q_n}{r_n} - 1} \left[ \sum_{m_{n-1}=1}^{\infty} \cdots \sum_{m_1=1}^{\infty} \frac{\prod_{i=1}^{n-1} a_{m_i}^{(i)}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \right]^{q_n - 1},$$

it turns out that

$$J = \left\{ \sum_{m_n=1}^{\infty} (m_n + \beta)^{p_n(1 - \frac{\lambda}{r_n}) - 1} \left( a_{m_n}^{(n)} \right)^{p_n} \right\}^{\frac{1}{q_n}} = I^{\frac{1}{q_n}}. \tag{27}$$

It follows from (22) that  $J < \infty$ . If  $J = 0$ , then (23) is naturally valid. Suppose that  $J > 0$ , by (22) we find

$$\begin{aligned} 0 < \sum_{m_n=1}^{\infty} (m_n + \beta)^{p_n(1 - \frac{\lambda}{r_n}) - 1} \left( a_{m_n}^{(n)} \right)^{p_n} &= J^{q_n} = I \\ < \frac{\prod_{i=1}^n r_i}{\lambda^{n-1}} \prod_{i=1}^n \left\{ \sum_{m_i=1}^{\infty} (m_i + \beta)^{p_i(1 - \frac{\lambda}{r_i}) - 1} \left( a_{m_i}^{(i)} \right)^{p_i} \right\}^{\frac{1}{p_i}} &< \infty. \end{aligned} \tag{28}$$

Dividing by  $J^{\frac{q_n}{p_n}}$  in both sides of (28), we obtain

$$\begin{aligned} \left\{ \sum_{m_n=1}^{\infty} (m_n + \beta)^{p_n(1 - \frac{\lambda}{r_n}) - 1} \left( a_{m_n}^{(n)} \right)^{p_n} \right\}^{\frac{1}{q_n}} \\ = J < \frac{\prod_{i=1}^n r_i}{\lambda^{n-1}} \prod_{i=1}^{n-1} \left\{ \sum_{m_i=1}^{\infty} (m_i + \beta)^{p_i(1 - \frac{\lambda}{r_i}) - 1} \left( a_{m_i}^{(i)} \right)^{p_i} \right\}^{\frac{1}{p_i}}. \end{aligned}$$

Thus, (23) is valid, which is equivalent to (22). □

**Theorem 3.2.** *Using the assumption of Theorem 1, the same constant factor  $\frac{\prod_{i=1}^n r_i}{\lambda^{n-1}}$  in (22) and (23) is the best possible.*

*Proof.* In view of (15) and

$$\lim_{N \rightarrow \infty} (m_n + \beta)^{\frac{\lambda}{r_n}} \sum_{m_{n-1}=1}^N \cdots \sum_{m_1=1}^N \frac{\prod_{j=1}^{n-1} (m_j + \beta)^{\frac{\lambda}{r_j} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} = \omega_n(m_n),$$

there exists  $N_0 \in \mathbf{N}$ , such that when  $N > N_0$ ,

$$\begin{aligned} (m_n + \beta)^{\frac{\lambda}{r_n}} \sum_{m_{n-1}=1}^N \cdots \sum_{m_1=1}^N \frac{\prod_{j=1}^{n-1} (m_j + \beta)^{\frac{\lambda}{r_j} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \\ > \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \times \left[ 1 - O \left( \frac{1}{(m_n + \beta)^{\delta_n}} \right) \right], \end{aligned}$$

where  $\delta_n > 0$ . We next set

$$\tilde{a}_{m_i}^{(i)} = \begin{cases} (m_i + \beta)^{\frac{\lambda}{r_i} - 1}, & m_i \leq N \\ 0, & m_i > N \end{cases} \quad (i = 1, \dots, n), \tag{29}$$

obtaining

$$\begin{aligned} \tilde{I} &= \sum_{m_n=1}^{\infty} \dots \sum_{m_1=1}^{\infty} \frac{1}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \prod_{i=1}^n \tilde{a}_{m_i}^{(i)} \\ &= \sum_{m_n=1}^N \frac{(m_n + \beta)^{\frac{\lambda}{r_n}}}{m_n + \beta} \sum_{m_{n-1}=1}^N \dots \sum_{m_1=1}^N \frac{\prod_{i=1}^{n-1} (m_i + \beta)^{\frac{\lambda}{r_i} - 1}}{[\max_{1 \leq j \leq n} \{m_j\} + \beta]^\lambda} \\ &> \sum_{m_n=1}^N \frac{1}{m_n + \beta} \times \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \times \left[ 1 - O\left(\frac{1}{(m_n + \beta)^{\delta_n}}\right) \right] \\ &= \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \times \left( \sum_{m_n=1}^N \frac{1}{m_n + \beta} \right) \\ &\quad \times \left\{ 1 - \left( \sum_{m_n=1}^N \frac{1}{m_n + \beta} \right)^{-1} \sum_{m_n=1}^N O\left(\frac{1}{(m_n + \beta)^{\delta_n+1}}\right) \right\}. \tag{30} \end{aligned}$$

If there exists a constant  $k \leq \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i$ , such that (22) is still valid if we replace  $\frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i$  by  $k$ , then, in particular, we have

$$\tilde{I} < k \prod_{i=1}^n \left\{ \sum_{m_i=1}^{\infty} (m_i + \beta)^{p_i(1-\frac{\lambda}{r_i})-1} \left(\tilde{a}_{m_i}^{(i)}\right)^{p_i} \right\}^{\frac{1}{p_i}} = k \sum_{m_n=1}^N \frac{1}{m_n + \beta}. \tag{31}$$

In view of (30) and (31), it follows that

$$\frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \left\{ 1 - \left( \sum_{m_n=1}^N \frac{1}{m_n + \beta} \right)^{-1} \sum_{m_n=1}^N O\left(\frac{1}{(m_n + \beta)^{\delta_n+1}}\right) \right\} < k.$$

For  $N \rightarrow \infty$ , we have  $\frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i \leq k$ . Hence  $k = \frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i$  is the best value of (22). We confirm that the constant factor  $\frac{1}{\lambda^{n-1}} \prod_{i=1}^n r_i$  in (23) is the best possible, otherwise we can get a contradiction by (26) that the constant factor in (22) is not the best possible.  $\square$

**Remark 3.3.** When  $n = 2$ ,  $r_1 = q$ ,  $r_2 = p$ ,  $p_1 = p$ ,  $p_2 = q$ , setting  $\lambda = 1$ , (22) and (23) reduce to (7) and (8) respectively. Moreover, setting  $\beta = 0$ , we obtain (5) and (6).

## Acknowledgements

This work is supported by the Emphases Natural Science Foundation of Guangdong Institution, Higher Learning, College and University (No. 05Z026), and Guangdong Natural Science Foundation (No. 7004344).

## REFERENCES

- [1] H. Weyl, *Singulare Integral Gleichungen Mit Besonderer Berücksichtigung des Fourierschen Integral Theorems*, Gottingen, Inaugural-Dissertation, 1908.
- [2] G. H. Hardy, *Note on a theorem of Hilbert concerning series of positive term*, Proceedings of the London Mathematical Society 23 (1925) 45–46.
- [3] G. H. Hardy - J. E. Littlewood - G. Pólya, *Inequalities*, Cambridge University Press, 1934.
- [4] Q. L. Huang, *On a Multiple Hilbert's inequality with parameters*, Journal of Inequalities and Applications 2010 (2010) Article ID 309319, 12 pages.
- [5] B. C. Yang, *A new Hardy-Hilbert's type inequality and applications*, Acta Mathematica Sinica, Chinese Series, 46 (6) (2003) 1079–1086 (Chinese).
- [6] B. C. Yang, *On a new Hardy-Hilbert's type inequality*, Math. Ineq. Appl. 7 (3) (2004) 355–363.
- [7] B. C. Yang, *On best extensions of Hard-Hilbert's inequality with two parameters*, Journal of Inequalities in Pure and Applied Mathematics 6 (3) (2005), 1–15.
- [8] W. H. Wang - B. C. Yang, *A strengthened Hardy-Hilbert's type Inequality*, The Australian Journal of Mathematical Analysis and Applications 3 (2) (2006), 1–7.
- [9] B. C. Yang, *On a new Hardy-Hilbert's type inequality with a parameter*, Int. Journal of Math. Analysis 1 (3) (2007), 123–131.
- [10] B. C. Yang, *On a more accurate Hilbert's type inequality*, International Mathematical Forum 2 (37) (2007), 1831–1837.
- [11] B. C. Yang, *The norm of operator and Hilbert-type inequalities*, Science Press, Beijing, China, 2009.
- [12] B. C. Yang, *Hilbert-type integral inequalities*, Bentham Science Publishers, 2009.
- [13] D. S. Mitrinović - J. E. Pečarić - A. M. Fink, *Inequalities involving functions and their integrals and derivatives*, Kluwer Academic Publishers, Boston, 1991.
- [14] J. C. Kuang, *Applied inequalities*, Shangdong Science Technical Press, Jinan, China, 2004.
- [15] S. L. Kalla - Alka Rao, *On Gruss type inequality for fractional integrals*, Le Matematiche 66 (1) (2011), 57–64.

*QILIANG HUANG*

*Department of Mathematics  
Guangdong University of Education Guangzhou  
Guangdong 510303, P. R. China  
e-mail: qlhuang@yeah.net*

*BICHENG YANG*

*Department of Mathematics  
Guangdong University of Education Guangzhou  
Guangdong 510303, P. R. China  
e-mail: bcyang@gdei.edu.cn*

*LOKENATH DEBNATH*

*Department of Mathematics,  
University of Texas - Pan American,  
Edinburg, Texas 78539, U.S.A.  
e-mail: debnath1@utpa.edu*